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Worksheet by Kuta Software LLC

Unit 3: Solving Equations

Homework #3 -Solving with Brackets

Name___________________________________

Date________________  5K____
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Solve each equation.

1)  225 = 5(3 - 6x) 2)  -5r - 6(6r + 2) = -299

3)  -5(6r + 6) = 180 4)  4(5n - 6) + 3n = -208

5)  -7(4 - 3r) = -196 6)  -448 = -7(8 + 8n)

7)  -2(3 - 6x) = 6 + 8x 8)  -8p - 6 = -2(-1 + 2p)

9)  12 - 8a = 7(6 - 2a) 10)  37 - 6k = -7(2k - 3) + 6k
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11)  4x + 12 = 6(4 + 3x) - 2x 12)  3(6n + 1) = 6n + 27

13)  3(1 + 5k) = -2(k + 7) 14)  -5(1 - 6x) = 7(4x - 5)

15)  6(m - 4) = -6(m - 7) + 6m 16)  -8(n + 4) - 8n = 4(4 - n)

17)  -6(a - 1) = 5a - 7(a - 6) 18)  -6(5x - 4) = 8(4 - 4x)

19)  9x - 10 + x = 9(4x - 4) - 2(8x + 2) 20)  -8(9p + 1) + 10(p + 7) = -9 + 9p + 4p - 4


